

REGLA DE LOS SIGNOS I

SUMAR RESTAR	+	-
+	SUMAR SIGNO + Ejem: $5+6=11$	RESTAR SIGNO DEPENDE DEL NÚMERO MAYOR Ejem: $5-6=-1$ $15-6=9$
-	RESTAR SIGNO DEPENDE DEL NÚMERO MAYOR Ejem: $-5+6=1$ $-15+6=-9$	SUMAR SIGNO - Ejem: $-5-6=-11$

REGLA DE LOS SIGNOS II

PRODUCTO COCIENTE	+	-
+	<p>SIGNO +</p> <p>Ejem: $5 \cdot 6 = 30$ $12 : 4 = 3$</p>	<p>SIGNO -</p> <p>Ejem: $5 \cdot (-6) = -30$ $12 : (-4) = -3$</p>
-	<p>SIGNO -</p> <p>Ejem: $-5 \cdot 6 = -30$ $-12 : 4 = -3$</p>	<p>SIGNO +</p> <p>Ejem: $-5 \cdot (-6) = 30$ $-12 : (-4) = 3$</p>